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Question Number : 1 Question Id : 64635011407 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is a social characteristic of a learner?

(1) Power of sensory perception (2) Thinking ability
(3) Power of synthetic imagination (4) Ability to relate oneself with others
Options:

E4535044599. 1
64535044300, 2



E45350443901. 3
64535044302, 4

Question Number : 1 Question Id : 64635011407 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4535044599. 1
64535044300, 2
64535044301, 3
64535044302, 4

Question Number : 2 Question Id : 64635011408 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which i1s the characteristic of formative evaluation?

(1) Evaluation occurs at the terminal point
(2) Evaluation 1s used before programme design
(3) Evaluation relates to indicating learning outecome of teaching
(4) Evaluation is conducted during teaching
Options:
64535044303, 1
64535044304, 2
E4E350443905, 3
E4E350443906. 4

Question Number : 2 Question Id : 64635011408 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044302, 1

64535044304 2

64535044305, 3

64535044306, 4

Question Number : 3 Question Id : 64635011409 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Cone of Experience’ related to teaching-learning was suggested by
(1) John Dewey (2) Kilpatrick
(3) Froebel {4) Edgar Dale



Options:

64535044907, 1
64835044908, 2
4535044309 2
64535044910, 4

Question Number : 3 Question Id : 64635011409 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E45350443907. 1
64535044308, 2
64535044309, 3
64535044310, 4

Question Number : 4 Question Id : 64635011410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The field of study which uses role playing, simulation and self-evaluation as strategies for
adult learners is known as

(1) Pedagogy (2) Andragogy
(3) Anthropology {4) Psychology
Options:

E4E35044911. 1
E4E3504491%2 2
64535044913, 3
64535044914, 4

Question Number : 4 Question Id : 64635011410 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535044911, 1
64535044912, 2
E4E35044913. 3
E4E35044914. 4

Question Number : 5 Question Id : 64635011411 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following is a non-cognitive characteristic of learner?

(1) Recalling {2) Problem solving

(3) Identifying important sensory nputs (4) Believing what is true

Options:
64535044915 1

E4E35044916. 2
E4E35044917. 3
64535044915, 4

Question Number : 5 Question Id : 64635011411 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535044915, 1
645350443916, 2
64535044317, 3
E4E35044915. 4

Question Number : 6 Question Id : 64635011412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following research formats focusses on hypothesis testing and generalisations?

(1) Experimental and ex-post facto research
i(2) Intervention based action research
(3) Phenomenalogical and narrative research

(4) Case study research

Options:

64835044919, 1
4535044320, 2
64535044921, 5
64535044922 4

Question Number : 6 Question Id : 64635011412 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frratag 5 = %9 = g 90 T THgT 3 ITHT e T S B Y

(1)  SAITeS AN FATcaL 9
(2)  FEAET gTiE TR e
(3) T g faam ¥ g T e
(4) =A% J=TIF MY
Options:
654635044919, 1
cAsZE044920, 2
C4AE2E044921. 2
425044922 4

Question Number : 7 Question Id : 64635011413 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following action sets best represent an action research cvele?

(1) Reflect, act, plan and observe (2) Plan, act, observe and reflect
(3) Observe, plan, reflect and act {4) Act, plan, observe and reflect
Options:

64535044923, 1
64535044924, 2
64535044925, 3
EAE3504492E. 4

Question Number : 7 Question Id : 64635011413 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
feratiaa § 5 %19 91 A 90==1 TR+ oY =% + 931 e 27

: No Display Question Number :

(1)  T=a, Teai=ta, It 3 g (2) Ft=F, AT, s =

(3)  FFAFA, T, F=am A0 Tt (4) Terari=ta, Tr=F, F== AT =E

Options:

645350445923, 1
E4E35044924 2
64535044925, 5
64535044926, 4

Question Number : 8 Question Id : 64635011414 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is the main feature of qualitative research?

] Avolds positivist assumptions and data analysis
(2) Subscribes to pre-existing categories
(3) Collects data in numerical form

(4) Uses empirical method of data analysis

Options:
64535044927, 1
645350449328, 2

: No Display Question Number :
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Yes



E4E35044929. 3
64535044920, 4

Question Number : 8 Question Id : 64635011414 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635044927, 1

64635044928, 2

£4635044929. 3

£4835044930. 4

Question Number : 9 Question Id : 64635011415 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A good review of research literature aims at
] Subjective analysis of the content
(2) Provides information about the authors and thewr affilhations
(3) GGenerates research questions and validating those gquestions
(4) Conducts multiple task based screening

Options:

645350449211

G4AE35044922 2

64535044333, 3

64535044334 4

Question Number : 9 Question Id : 64635011415 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044931, 1
4535044932 2
64535044922 5
64535044934 4

Question Number : 10 Question Id : 64635011416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A researcher fails to reject the null hypothesis (Ho) in his/her research. What implications
will it carry for his/her principal research hypothesis?

(1) Accepting the research hypothesis
(2) Rejecting the research hypothesis

(3) Not talang any decision on the research hypothesis
(4) Improving the research hypothesis

Options:

6453504459351

64535044936, 2

64E35044927. 2

64535044338, 4

Question Number : 10 Question Id : 64635011416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
645350445935, 1
54635044936, 2
64535044927, 5
64535044928, 4

Sub-Section Number : 2
Sub-Section I1d: 646350538
Question Shuffling Allowed : Yes

Question Id : 64635011417 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cesticn Label | Comprehension



Read the following passage and answer guestions:

There 15 a common thread running through the unravelling of India’s statistical
system. A modern economy with sound institutions is characterised by timely dissemination
of credible data. A long term policy needs an empirical basis and issues of veracity of data
will influence investment decisions. In a country with a large population of vouth, data on
national development, especially in core sectors like agriculture, industry, health, education
and employment, will be critical Here comes the role of National Statistical Commission, a
body created to establish standards. Questioning the data veracity is a global phenomenon.
The official narrative is always guestioned by the people on the other side of the fence.
Dissemination of economic data is essential to reach out to the public who lived their reality.
Lack of data will adversely impact the quality of national policies. India must start
strengthening institutions such as the central statistical eommission. These Institutions
must be granted autonomy and insulated from external interferences. Enhanced operational
autonomy will make their work credible. An indicator of operational autonomy is their
ability to stick to a dissemination calendar regardless of what the data indicates.

Sub questions

Question Number : 11 Question Id : 64635011418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is important for a modern economy?

(1) A common thread

(2) Dissemination of credible data
(3) Unravelling of statistical svstem
(4) Selective distribution of data
Options:

64635044939 1

645350445940, 2

64635044341, 3

64535044942 4

Question Number : 12 Question Id : 64635011419 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Investment decisions are impacted by

(1) Youth population (2) National development
(3) Issues of data veracity {4) Establishment of national institutions
Options:

64535044942 1
64535044944 2
E4E35044945, 3
E4E3504494E, 4

Question Number : 13 Question Id : 64635011420 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the work of National Statistical Commission?

(1) Establishing standards (2) Questioning data veracity
(3) GQuestioning official narrative {4) Supporting the public perception
Options:

E4E350448947. 1



E4535044945. 2
64535044945, 3
64535044350, 4

Question Number : 14 Question Id : 64635011421 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How can the gquality of national policies be improved?

(1) By living reality
(2) By supporting external interferences
(3) By controlling autonomous institutions
(4) By enhanced operational freedom
Options:
E4525044951. 1
E4535044952 2
64535044953 =
64635044954 4

Question Number : 15 Question Id : 64635011422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What does the passage ultimately suggest to National Statistical Commission?

(1) Restricting policy decisions
(2) Critically examining data veraecity
(3) Stick to a calendar of data dissemination

{4) Support development in core sectors
Options:

64535044355, 1

64535044356, 2

64535044357, 3

64535044955, 4

Question Id : 64635011417 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension
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Sub questions

Question Number : 11 Question Id : 64635011418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
I+ FRTmT + T #7071 7 27
(1) U= gmE fT=n
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(3) TSI qUTE 1 TP
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Options:

64835044939, 1
4535044340, 2
64535044941, 5
645350449472 4

Question Number : 12 Question Id : 64635011419 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) I e (2) WA fa=ry
(3)  Hiwsl =+ HoAal + Hag, (4) TS HETAT I TTE
Options:

64535044943 1
64535044944, 2
64535044945, 3
E4E3504494E, 4

Question Number : 13 Question Id : 64635011420 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35044947. 1
E4535044948. 2
64535044945, 3
64535044350, 4

Question Number : 14 Question Id : 64635011421 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T ATl =5 e § S AuR R o g 27

(1)  =HE TR T F9 F0H

(2) =TI TEAETT 1 T T
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(4)  ATHF TFATHF WAl J5H FH|
Options:
45350449511
64535044952, 2

E4535044953. 3
E4535044954. 4

Question Number : 15 Question Id : 64635011422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
40235044955 1
64635044956, 2
64635044957 3
64535044955 4

Sub-Section Number: 3
Sub-Section 1d: 646350539
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635011423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Assertion {(A) : The correlation function of mass media is vital for any society.

Reasons (R) : The mterpretational aspects that include advertising and public relations
shape and influence public opinion.

Choose the correct answer from the codes given below :

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) {A) is true, but (R) is false

(4) (A) is false, but (R) is true

Options:
45250449559 1

E4E35044960. 2
E4535044961. 3
GA53504496%2, 4

Question Number : 16 Question Id : 64635011423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64835044959, 1
4535044380, 2
64535044961, o
4535044962, 4

Question Number : 17 Question Id : 64635011424 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Some of the barriers to effective communication are

i(a) Polysemy

{b) Simple language

(c) Use of Cliche’s

(d}) Easy construction of sentences

Choose the correct answer from the codes given below :

(1)  (a)and (b) (2) (b) and (¢)
(3)  (c) and (d) (4) (a)and (¢)



Options:

64535044963, 1
4835044964 2
4535044365 =2
64535044966, 4

Question Number : 17 Question Id : 64635011424 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
WA HH < T =T F)
(8) G- FFA
(b) TR T
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(dy =TT R ATEE T

i1 fan 0 2 F HE S =9 F:)

(1)  (a) X (b) (2) () W (c)
(3) ()3T (d) (4) (a) N (o)
Options:

64535044963, 1
64535044364, 2
E4E350449E65, 3
EAE35044966. 4

Question Number : 18 Question Id : 64635011425 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, use of communication technology pre-supposes

(1) Inattentive audience
(2) Luxurious amblence
{3) Extrapolation of contents
(4) New forms of expression and applications
Options:
E4E25044967. 1
EAE25044968. 2
E4535044969. 3
64535044970 4

Question Number : 18 Question Id : 64635011425 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4535044967, 1
64535044968, 2
64535044969, o
64535044970, 4

Question Number : 19 Question Id : 64635011426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a classroom, content produced for a specific user will lead to

(1) personality development (2) content filtering
(3) personalisation {4) general academic integration
Options:

E45350445971. 1
64535044972 2
64535044973, 3
64535044974, 4

Question Number : 19 Question Id : 64635011426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
w41 4 TR fafime warea = fau a6 7 fawasg =1 giomy g

(1)  =AfFa T (2) Tarvgereg wheie=
(3) T (4) T S T
Options:

64535044971, 1
E4E35044972. 2
E4E35044973. 3
64535044974, 4

Question Number : 20 Question Id : 64635011427 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The sequential order of elements in classroom communication is

(1) knowledge, interest, evaluation, awareness
(2) awareness, interest, evaluation, knowledge
(3) evaluation, awareness, knowledge, interest

(4) interest, knowledge, evaluation, awareness

Options:



E4E35044975. 1
64535044976, 2
64535044977, 3
64535044975, 4

Question Number : 20 Question Id : 64635011427 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FHTTT THIT % dedl & T #H 7 -
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(3) AT, ANTEFA, T, B

(4) 4, TH, TEATEA, TIEED
Options:
64535044975, 1
64535044976, 2
64535044977, 5
64535044975, 4

Question Number : 21 Question Id : 64635011428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the missing term out of the following :
JAK, KBL, LCM, MDN,

(1) OEP (2) NEO
(3) MEN (4) PFQ
Options:

64535044975, 1
64535044950, 2
645350443981, 3
E4E35044982. 4

Question Number : 21 Question Id : 64635011428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FtatEd § 5 Jega T
JAK, KBL, LCM, MDN,

(1)  OEP (2) NEO
(3) MEN (4) PEQ
Options:

64535044979, 1
64535044380, 2
64535044951, 3
EAE35044982. 4



Question Number : 22 Question Id : 64635011429 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the numhber 34axy is divisible by 90, then (x + 1) =7

(1) g (2) 8
) I (4) 6
Options:

E4E35044953. 1
E4535044984. 2
64535044985, 3
64535044956, 4

Question Number : 22 Question Id : 64635011429 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Ife & 346¢y 90U =2 %, A (x+ y) =7

i1y B (2) 8
(3) 7 4) 6
Options:

E4E35044953. 1
E4535044984. 2
64535044985, 3
64535044956, 4

Question Number : 23 Question Id : 64635011430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
On a map, 1inch represents 250 miles. What is the actual distance between two cities if they

are 4% inches apart on the map?

(1) 1100 miles (2) 1125 miles
(3) 1150 miles (4) 1200 miles
Options:

64535044957, 1
64535044958, 2
E4E35044959. 3
E4E35044930. 4

Question Number : 23 Question Id : 64635011430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Foefl AT T 1 % 250 T T O B A T A WA T F A=A G 4Z TR

ST Wi o ATl g T

(1) 1100 = (2) 1125w
(3) 1150 (4) 12007
Options:

64535044957, 1
64535044958, 2
64535044959, 3
E4E35044930. 4

Question Number : 24 Question Id : 64635011431 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If 60% of (a—b)=40% of (a+b), then what percent of @ is b?

(1) 20% (2) 25%
(3) 40% (4) 50%
Options:

6453504459591, 1
64535044932, 2
64535044933, 3
E4E350445954, 4

Question Number : 24 Question Id : 64635011431 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e (a—b) F 60%=40% = (a+b) &, d a 1 b T Hia=d gm ?

(1) 20% {2) 25%
(3) 40% (4) 50%
Options:

645350449391, 1
64535044932, 2
E4E35044953. 3
E4E350449394. 4

Question Number : 25 Question Id : 64635011432 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What will be the ratio of simple interest earned by certain amount at the same rate of
mterest for 8 years and that for 12 years?

(1) 3:4 2y 23
(3) 4:3 (4) Data inadeqguate
Options:

64535044955, 1



E4E35044996. 2
64535044957, 3
64535044955, 4

Question Number : 25 Question Id : 64635011432 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FRET 0T8T 70 9 99 #1279 =k TofU U JHTE =471 &1 ° ATeid HrgTo s47] I FI97d F47 i 7

() a4 (%5 23
(3) 4:3 (4) FATHE AT 3
Options:

64535044935, 1
64535044936, 2
E4E35044957. 3
E4E350449395. 4

Question Number : 26 Question Id : 64635011433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘All Judges are fairminded’ is an example of proposition.

(1) Universal affirmative (2) TUniversal negative

(3) Particular affirmative (4) Particular negative
Options:

E4E35044995. 1
E4E35045000. 2
64535045001, 3
64535045002, 4

Question Number : 26 Question Id : 64635011433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘gt =TT vy g o T FEE B

(1) ==y b8y (2) T Ty

(3) AtaTee e (4) Tafime Frg
Options:

E453504459959. 1
64535045000, 2
64535045001, 3
6453504500Z. 4

Question Number : 27 Question Id : 64635011434 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following arguments ‘the relation that exists between premises and
conclusion is that of logical necessity™?

(1) Inductive (2) Deductive
(3) Demonstrative (4) Analogical
Options:

E4E35045003. 1
E4E35045004. 2
64535045005, 3
64535045006, 4

Question Number : 27 Question Id : 64635011434 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fetatiad oA Tieaai § “aaR 999 A1 ke & 9§19 5 994 g ¢ 9% alled A-Erddr 1 g 8

(1)  FFEATES (2) A=
()  TEEAEE (4) HIETIAF
Options:

E4E35045003. 1
E4E35045004. 2
E4535045005. 3
64535045006, 4

Question Number : 28 Question Id : 64635011435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre. E is to the left
of D. Cis between A and B. F is between E and A. Who is to the right of C?

(1) A (2) B
(3 D (4 E
Options:

64535045007, 1
64535045008, 2
64535045009, 3
E4E35045010. 4

Question Number : 28 Question Id : 64635011435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FEAA B,C.D,EAN FUag a0 § &z ol AL 4@ gU A2 E, D H ardff A3 C, A dR =+
fFHF 2 FEFNAFTIHE 2 CF gl AL FAR?

1) A (2) B
(3 D (4) E
Options:

64535045007, 1
E4E35045008. 2



E4E35045003. 3
64535045010, 4

Question Number : 29 Question Id : 64635011436 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Inference (anumana) in Indian Logic is rooted in

(1) variable relation between minor term and major term

(2) mmvariable relation between middle term and minor term

(3) variable concomitance between middle term and major term

(4) mvariable concomitance between middle term and major term
Options:

E4E535045011. 1
E4E35045012. 2
E4535045013. 3
64535045014, 4

Question Number : 29 Question Id : 64635011436 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AT FohEE § A 1 0d 7

(1) T 9% AN 0T 75 = &9 TiEd 99y
(2) TRl T8 I e & #g ATEG a9
(3) WISl U5 A EA UL o "= TiE) dgaidd
(4) TG Tg AN 0BT TE S A9Ed St
Options:
646350450111
64635045012 2

64535045013, 3
64535045014, 4

Question Number : 30 Question Id : 64635011437 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A B C D, EandF are six members in a family in which there are two married couples.
E, a teacher is married to the doctor who 1s the mother of C and F. B, the layer 15 married to
A A has one son and one grandson. Of the two married ladies one 1s a housewife. There 15
also one student and one male engineer in the family. How is A related to C?

(1) Grandfather {2) DMlother
(3) Sister (4) Grandmother
Options:

E4535045015. 1
64535045016, 2
64535045017, 3
645350450158, 4



Question Number : 30 Question Id : 64635011437 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

% TER § A, B, C, D, E 3 F =: 9257 £ fomd & 3t femfeg <0t #1 E = o fonges 2, =71 fomme
SHAHEM A CANFARA MU BA AR F A AT g2 AF F T AN 3 2| &
feaTrEa ATgenaT O | U U1 7| TN 5 U i o T S S o 21 A CH 347 599 7 ¢

(1) &g (2) =@
(3 T (4) =T
Options:

E4535045015. 1
E4535045016. 2
64535045017, 3
645350450158, 4

Sub-Section Number: 4
Sub-Section 1d: 646350540
Question Shuffling Allowed : Yes

Question Id : 64635011438 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label @ Comprehension

Consider the following table that shows the distribution of students in two sections Aand Bin a
school aceording to the marks obtained by them. There 15 a total of 45 students in each of the
sections A and B. Answer the guestions based on the data contained in the table :

Marks obtained by students

Marks MNumber of students in
in class interval Section — A Section — B

[0-9] 2 4

[10 — 19] 5] 3]

[20 - 29] 10 g

[30 — 39] 4 4

[40 — 49] 8 7

[0 - 59] 4 5

[60 — 69] T 5

[T0 — 79] 5] 5

Sub questions

Question Number : 31 Question Id : 64635011439 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If the pass mark 15 30, what 15 the number of failures in both the sections together?

(1) 43 2y 35
(3) 16 4) 26
Options:

E4E35045013. 1
E4E35045020. 2
64535045021, 3
64535045022, 4



Question Number : 32 Question Id : 64635011440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the pass mark i1s 40, approximately what is the percentage of successful students mn
Section — B?

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

E4E35045023. 1
E4E35045024. 2
64535045025, 3
64535045026, 4

Question Number : 33 Question Id : 64635011441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many students in Section — A and Seection — B together have obtained marks less
than 107

(1) 10 (2 11
(3) 12 4 6
Options:

64535045027, 1
64535045028, 2
64535045029, 3
E4E35045030. 4

Question Number : 34 Question Id : 64635011442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many students in Section — A have obtained 30 or more marks but less than 507

(1) 12 (2) 14
(3) 10 4y 13
Options:

64535045021, 1
64535045032, 2
E4E35045033. 3
E4E35045024. 4

Question Number : 35 Question Id : 64635011443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

How many students in Section — A and Section — B have obtained 50 or more than 50 marks?

(1) 23 (2) 43
(3) 32 (4) 34
Options:

E4E35045035. 1



E4E35045036. 2
64535045037, 3
64535045028, 4

Question Id : 64635011438 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label - Comprehension

fepAferfire arfers =1 fermfelat =1 Wrea #(=! & FER fa=rea § 2 #a A A B H faanfeii % faam =
297 3| el H9EH A A B 0 F 45 Tl 8| arfersn § fEu T sl % angn w weEi 1 39 den)

Ty TR s EEE
T fgv. A S B

[0 - 9] 2 4
[10 - 19] 5 5
[20-29] 10 9
[30 - 39] 4 4
[40 — 49] 8 7
[50 — 59] 4 5
[60 — 69] 7 5
[70 - 79] 5 6

Sub questions

Question Number : 31 Question Id : 64635011439 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T, FAOF 30 B, T S WAl § Ao fernfea i w5 we e 20

(1) 43 (2) 35
(3) 16 (4) 26
Options:

E4535045019. 1
64535045020, 2
64535045021, 3
64535045022, 4

Question Number : 32 Question Id : 64635011440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ITe, IHTF 40 3 HFEH B O IH9 B TTel il s 9iase o TR 77

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

64535045023, 1
64535045024, 2
64535045025, 3
64535045026, 4



Question Number : 33 Question Id : 64635011441 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
O - A 31 O9F - B 24 o T faenferai 3 10 9 =59 &= 3 TRt

(1) 10 (2) 11
(3) 12 4) 6
Options:

64535045027, 1
64535045028, 2
E4E35045029. 3
E4E35045030. 4

Question Number : 34 Question Id : 64635011442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o7 - A H TR fer=nielai = 30 71 Wit 1= g 50 & 9 o+ Wied U 37

(1) 12 (2) 14
(3) 10 4y 13
Options:

E4E35045021. 1
E4E35045032. 2
64535045033, 3
64535045024, 4

Question Number : 35 Question Id : 64635011443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
O9FH - A 31T 9999 - B O Tood Toafelat 9 50 77 50 ° 19 37 Wred TeFu?

(1) 23 (2) 43
(3) 32 4) 34
Options:

64535045035, 1
E4E35045036. 2
E4E35045037. 3
64535045028, 4

Sub-Section Number: 5
Sub-Section Id: 646350541
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635011444 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



While sending an e-mail, to differentiate among To : , Ce: and Bee : fields, which one of the
following statements is True?

(1) Recipients in the To : field can see the email addresses that are in the Bee : and Ce:

fields

(2) Recipients in the Ce : field can see the email addresses that are in the To - and Bee:
fields

(3) Recipients in the Bee : field can see the email addresses that are in the To : and Ce:
fields

i4) Only the recipients in the Ce : field can see the other email addresses in the Bee : field

Options:

4535045039, 1
64535045040, 2
64535045041, =
64535045042 4

Question Number : 36 Question Id : 64635011444 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U S 0o 99d 509 To -, Ce : 31T Bee : Fivel § 19498 %3 & 9949 O (iaraiiad 5= § ® HE-97 951
27

(1) To:ﬁﬁﬁmﬁee:ﬁﬂe:fﬁﬁﬁﬁﬁ@mﬁﬂﬁﬂﬁiﬁmgl
(2) Cec : %ies § Wreawdl To : 3 Bee : Fiesl d Ta=m= Ha 741 =1 <@ 954 &
(3) Bee - Fieg § Wtashal To : 31T Ce - Fiesi § =@ 309 791 1 <@ T4 7
(4) Cec : e § S Wtasdl Bee : %lesl § A3 20 T4l 1 4@ Td 2|
Options:

E45350450359. 1

64535045040 2

64635045041 =

E4B35045042 4

Question Number : 37 Question Id : 64635011445 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A group’s access to digital technology and ancther group’s lack of access to it, will cause a
disparity known as

(1) Internet inequality (2) Web inequality
(3) Technological imbalance {4) Digital divide
Options:

64535045043, 1
64535045044, 2
64535045045, 3
E4E3504504E, 4

Question Number : 37 Question Id : 64635011445 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U HHE I TEfsee Wi i Sremad A gEt g i e Agestd | S fauwdar s g 5
71 =l 2

(1) ST FEAT (2) F= FEEHA
(3) iR aEaed (4) Tefaea faar=m
Options:

64535045043, 1
64535045044, 2
64535045045, 3
E4E3504504E, 4

Question Number : 38 Question Id : 64635011446 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In internet terminology, what does the acronym WYSIWYG stand for?

(1) Why You Saw Is What You Got (2) What You See Is What You Get
(3) Where You See Is Where You Got (4) What You See Is What You Got
Options:

64535045047 1

646350450458 2

64835045049 2

E4E25045050. 4

Question Number : 38 Question Id : 64635011446 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T TICATTo TReraet | T 6 WYSIWYG %1 3=f gran 37

(1) ==L A T e LM (2) =eLH WmELR
(3) TEAL L A LM (4) =L H WEEZ L
Options:

E4E35045047. 1
645350450458, 2
64535045049, 3
64535045050, 4

Question Number : 39 Question Id : 64635011447 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Software that vou can download for free, but have to pay to continue its use after a trial
period 1= called

(1) public domain software (2) freeware
(3) open-source software {4) shareware
Options:

E4E35045051. 1
E4E35045052. 2



E4E35045053. 3
64535045054, 4

Question Number : 39 Question Id : 64635011447 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HivearT, f A9 F3les eredie 1 Hd 3, g gra9 =iy = 9=, 36 W S T % T
ATTH FTAH F T8 7, TIH Fa44 3

(1)  TEaF SHA FFeEIL (2) WA
(3)  AH-HE TiFET (4) IEEE
Options:

64535045051, 1
64535045052, 2
E4E35045053. 3
E4E35045054. 4

Question Number : 40 Question Id : 64635011448 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following computer components 1s fastest in terms of speed of access?

(1) USE Drive (2) Solid State Drive
i AT ard Ihsk Drive

3) RAW (4) Hard Disk Dn
Options:

E4E35045055. 1
E4E35045056. 2
64535045057, 3
64535045058, 4

Question Number : 40 Question Id : 64635011448 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
et et Hazhl o | FH-31 5= I T = 3 H HgeE ga gt

(1) L uHH g (2) Hifas T2 IrA
(3) W (IMuW) (4) = fomr gr=
Options:

E4535045055. 1
64535045056, 2
64535045057, 3
64535045058, 4

Question Number : 41 Question Id : 64635011449 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



One of the main outcomes of the Rio +20 conference was to develop a set of

(1) Sustainable Development Goals (2) Millennium Development Goals
(3) National Development Strategy (4) National Land Restoration Strategy
Options:

E4535045059. 1
64535045080, 2
64535045061, 3
64535045082, 4

Question Number : 41 Question Id : 64635011449 Question Type: MCQ Option Shuffling

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

frafl +20 HH@A 1 TF T0 T T 90=a9 1 5 &6 97

(1)  TEE fFwm 98 (2) TEETE: fawrg @
(3)  TSEF TRy T (4) T g T T
Options:

64535045059, 1
64535045080, 2
E4E35045061. 3
EAE35045062, 4

: No Display Question Number : Yes

Question Number : 42 Question Id : 64635011450 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The time frame for the implementation of Millennium Development Goals was,

(1) 2000 — 20035 (2) 2000 -2015
(3) 2005 — 2010 (4) 2000 -2012
Options:

64535045082, 1
E4E35045064, 2
E4E35045065. 3
64535045066, 4

Question Number : 42 Question Id : 64635011450 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

AEHIES FHHE TE o+ FA = I -HE R

(1) 2000 — 2005 (2) 2000 - 2015
(3) 2005 — 2010 (4) 2010 - 2020
Options:

645350450683, 1
64535045064, 2
645350450685, 3
EAE3504506E6, 4



Question Number : 43 Question Id : 64635011451 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The duration for which of the usable compost generation is 3—6 months?

(1) Vermi composting (2} Semi-Automatic waste converter
(3) Pit composting (4) Automatic waste converter
Options:

64535045087, 1
645350450688, 2
64535045089, 3
E4E35045070. 4

Question Number : 43 Question Id : 64635011451 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FeratEa 5 8 o 3TEmmarg e, e = a9y 3-6 918 = 5 B

(1) = e (2) HAF-TTNAd 998 FUEdF
(3) e $onieen (4) TE=ErAd 94 GUiEd®
Options:

64535045087, 1
645350450688, 2
E4E35045069. 3
EAE35045070. 4

Question Number : 44 Question Id : 64635011452 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Oligotrophic lakes are characterized by

(1) High level of nutrients (2) Low level of nutrients
(3) Absence of nutrients (4) High level of organic matter
Options:

64535045071, 1
64535045072, 2
E4E35045073. 3
EAE35045074. 4

Question Number : 44 Question Id : 64635011452 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 9= # I T (2) TEH F 7 o1
(3) g F AYE (4) e TEET 1 3= T
Options:

64535045071, 1
64535045072, 2
E4E35045073. 3



EAE35045074. 4

Question Number : 45 Question Id : 64635011453 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

With increase in temperature, the dissolved oxygen content in a water body

(1) decreases
(2) increases
(3) remsain constant

(4) may increase or decrease depending on the temperature range

Options:

64535045075, 1
64535045076, 2
4835045077, 2
4535045078, 4

Question Number : 45 Question Id : 64635011453 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AT | g * 9= 79 g ° et Aifaeeq 19

(1) =z
(2) H@ed
(3) TERTETE

(4)  AIHE TIE F ATHE g2 I g 2
Options:
64635045075, 1
64635045078, 2
64635045077, 3
64635045078, 4

Question Number : 46 Question Id : 64635011454 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The econstitution of India provides right to establish educational institutions of their choice
by all minorities as per

(1) Article 30(1) (2)  Article 29
(3) Article 33 (4)  Article 16(2)
Options:

64535045079, 1
64535045080, 2
E4E35045081. 3
E4E35045082. 4

Question Number : 46 Question Id : 64635011454 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



O 1 TS AT9E=TH g 7 748 5 o 9= =g 7 o AT 5 39 A 2

(1) 3= 30(1) (2) T 29
(3)  Ig=e 33 (4) IF=T 16(2)
Options:

E4E350450739. 1
64535045080, 2
64535045081, 3
64535045082, 4

Question Number : 47 Question Id : 64635011455 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SWAYAM refers to
(1) Study World of Action-Learning for Young Aspiring Minds
(2) Study Webs of Active-Learning for Young Aspiring Minds
(3) Student World of Action-Learning for Young Ailing Minds
(4) Study Webs of Active-Learning for Youth Awareness hModels

Options:

E4525045085 1

64535045054 2

64535045085 3

64635045086, 4

Question Number : 47 Question Id : 64635011455 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
WA AR T (F) F I T
(1) T2 T8 ATF UFEH-AT B 17 T ATEEd
(2)  TZE 959 ATF U -1 FIL 47 TEITITET AT5-5H
(3)  TZErZ dve ATH UFEH-AI- FIL T TRl HT358
(4)  TZE =A=H AR UFed-H- HIL I8 AT HI5-5H
Options:
64835045083, 1
64535045054, 2

E4E35045085. 3
E4E35045086. 4

Question Number : 48 Question Id : 64635011456 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is an educational FM radio network?

(1) Gyan Darshan {2) Gyan Vani
i3} Gyan Dhara (4} GIAN
Options:

E4E35045087. 1
64535045088, 2



E4E35045089. 3
645350450380, 4

Question Number : 48 Question Id : 64635011456 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fr=tafaa 8 2 F3-1 Sy 16 w e 2=+ 27

(1) FHAZIA (2) T =TI
(3) FHEW (4) St AT
Options:

64535045087, 1
64535045088, 2
E4E35045089. 3
E4E35045030. 4

Question Number : 49 Question Id : 64635011457 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following reports addressed the academiec, technical and administrative
problems of the examination system?

(1) Report on standards of the Educational System (1965)
(2) Report of University Education Commission (1948-49)
(3) Sargent Report (1944)
(4) Hartog Committee report (1929)

Options:

E4E825045031. 1

E4E25045092 2

E45350450593. =

645350450594 4

Question Number : 49 Question Id : 64635011457 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Tt TEa Sidaedt O ® Tora Tiran yomedt =ht Stgiies, a-rd 1 Wemai- Gaeal = g fwan ?

(1) T 14 Tr28d A% & THd 952 (1965)
(2)  TOOrE ATE IS THTH FHEE (1948-49)
(3)  Hraiee fOre (1944)
(4)  Frem Fd o (1929)
Options:
64635045091, 1
64635045092, 2

E4E350450383. 3
E4E350450594. 4

Question Number : 50 Question Id : 64635011458 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

During which wvear the present syvstem of affiliation of colleges to the Universities was
imtroduced in India?

(1) 1857 (2) 1948
(3) 1928 (4) 1966
Options:

E4535045085. 1
64535045086, 2
64535045087, 3
64535045038, 4

Question Number : 50 Question Id : 64635011458 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T | metterarerd i favafaaradl § gwEga i 990 v a9 e g

(1) 1857 (2) 1848
(3) 1928 (4) 1966
Options:

64535045085, 1
64535045036, 2
64535045037, 3
E4E35045035. 4

PART II Santali

Section Id : 646350304

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 96

Number of Questionsto be attempted: 96

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350542
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635011459 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



31 3] ATETS B T I &1 &Ml ?

(1) = smEEE
(2) eT=m

(3) fofy T smmegn
(4) @mq

Options:

645350450949, 1
64535045100, 2
E4535045101. 3
E4E35045102. 4

Question Number : 51 Question Id : 64635011459 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ST 3] HATSTS & T AN TS HA 2

(1) = smEEE
(2) emIm

(3) Taf T STEg
(4) &g

Options:

645350450949, 1
64535045100, 2
E4E35045101. 3
E4E35045102. 4

Question Number : 52 Question Id : 64635011460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
7, T, @, 9 AHTASE =g ATSS HE 7
(1) "
(2) e qaTs
(3) ¥ AEFHE AT
4) & T

Options:

64535045103, 1
64835045104, 2
4535045105 2
64535045106, 4

Question Number : 52 Question Id : 64635011460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T, T, A, 9 ARTASRH =g ATSS FHF ?
(1) %% qar
(2) e 4T
(3) ¥R "EFHE 9T
4 &=

Options:

64535045103, 1
64535045104, 2
64535045105, 2
4835045106, 4

Question Number : 53 Question Id : 64635011461 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T STgfad Safd 31 3@m (National Commission for
Scheduled Tribes) HE9H T AR =8¢ TTF 515 d S

HATRIAT 7

(1) @17=ag 338

(2) T 337
(3) T 396
(4) =HG 395

Options:

64535045107, 1
64835045108, 2
4535045109 2
64535045110, 4

Question Number : 53 Question Id : 64635011461 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T STggiaa S=anfa 21 37@m (National Commission for
Scheduled Tribes) HGHM WTH AR T8z T Z1S d oG
AR ?

(1) erg=dz 338

(2) 1793 337

(3) =05 Job
(4) THg 395
Options:

64535045107, 1
E4E35045108. 2
E4535045108. 3
64535045110, 4



Question Number : 54 Question Id : 64635011462 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

VST S HiE TFEE g1 foeft @ v 2

(1) zmm
(2) TEER
(3) ®=&HER
(4) Tzerd
Options:
645350451111
64535045112, 2

E4535045113. 3
E4535045114. 4

Question Number : 54 Question Id : 64635011462 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ST A Hig1 T g1 Feft =i HamsEn ?

(1) zmm
(2) TIER

(3) H=WHheR
(4) e

Options:

64635045111, 1
64535045112 2
64535045113 =
64535045114 4

Question Number : 55 Question Id : 64635011463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Syt s’ ST S W U g a2
(1) 1840 — 60 #TcA
(2) 1860 — 60 @ TA
(3) 1860 — 70 9T

(4) 1870 -804rA
Options:
645350451151
64535045116, 2
64535045117 2
64535045118 4



Question Number : 55 Question Id : 64635011463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
et @i S S A X g O ?
(1) 1840 - 60 51
(2) 1850 - 60 H1A
(3) 1860 - 70 |1

(4) 1870 -804
Options:
64535045115, 1
64535045116, 2
64535045117, 3
64535045118, 4

Question Number : 56 Question Id : 64635011464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TrEiEE T eTHIfeE] & ST Y ?
(1) =i
(2) SIS THIE

(3) qoiE® Teant
(4) ¥Em

Options:

4835045119, 1
4535045120 2
64535045121, 5
64535045122 4

Question Number : 56 Question Id : 64635011464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TrEfaTE F oo g1 S T 2
(1) =nferhi
(2) S JEIE

(3) qoETEm T
4) TEm

Options:

64535045119, 1
64535045120 2
64835045121, 2
4535045122 4

Question Number : 57 Question Id : 64635011465 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Toga g At siers geft e ?

(1) =g
(2) whifergE
(3) =k

(4) fawmEza
Options:

64535045123, 1
64535045124, 2
64535045125 3
64535045126, 4

Question Number : 57 Question Id : 64635011465 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Togd’ @ eeRiE adrar gl % 2

(1) =g
(2) wfere™
(3) =
(4) faomEea
Options:

E4E35045123. 1
E4E35045124. 2
E4535045125. 3
64535045126, 4

Question Number : 58 Question Id : 64635011466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HToll ToTed FEAT STies gefi 21 SThIerh H ?
(1) oy wgan

(2) T

(3) erfirdion

(4) mEge=f
Options:

64535045127, 1
64535045128, 2
64535045129, 3
E4E35045130. 4

Question Number : 58 Question Id : 64635011466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FT TR FEATEE SAiee It g SRR ®T ?

(1) g wigfamn
(2) fawmoh
(3) efirdion
(4) TRy

Options:

64535045127, 1
64535045128, 2
64535045129 =
64535045130 4

Question Number : 59 Question Id : 64635011467 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
IR AT A T AETE T FET 2
(1) 3= Hgd W TE AR
(2) WeE HIA WS UL AEE
(3) WeT WA AEM TR S
(4) T faga aom ug1 AEE

Options:

6453504515101
64535045132, 2
64535045122,
64535045134 4

Question Number : 59 Question Id : 64635011467 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
IR AT A T AETE F FEAT 2
(1) 3= Hgd "HE T3 AR
(2) HeT Hgd HHTE TF ASE
(3) WeT Had qEM TE S
(4) T faga aEm Ug1 Es

Options:

64535045131, 1
4535045132 2
64535045122
64535045134 4

Question Number : 60 Question Id : 64635011468 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T 1T wfen fEm #iaeq d9-69 ) R e 11T ST
Hiagd HIst T AT, Fal Heama $de $e 1 giEas 99E 1 |
Tt 1 =it 11
(a) SEU@ A (i) SIfSEESETER
(b) <o, gt (i) srferaarE
(c) Awmzfame (i) TevsmEr
(d) (iv) frdefrar
e :
(M) (a)=), (b)—(ii), (e)=(ii), (d)~iv)
(2) (a)i), (b)), (e)~(iv), (d)iii)
(3) (a)ii), (b)—(ii), (c)—), (d)~(iv)
(1) (a)—Gi), (b)—(ii), (e)—iv), (d)—)

Options:

64535045135, 1
64535045136, 2
64535045137, 2
64835045128 4

Question Number : 60 Question Id : 64635011468 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T 1Y Tfen fGEmm Aiagq a9-fas F e gEt 11 STharg
Hlaed FIST T ERET, Fal fiema #de $e 1 gias a9E 1 |
ot 1 Tt 11
(a) =@ A (i) AlEESHETR
(b) =T 3 (i) #fdeaar
(c) Awmzfaze (i) fAEvsTar
(d) (iv) Frdfefwrar
e :
(D) (a)=(@), (b)=(ii), (e)(iii), (d)~iv)
(2)  (a)—i), (b)-(), ()—(iv), (d)iii)
() (a)—(ii), (b)—(ii), (e)—(1), (d)~(iv)
4 (a)ii), (b)~(ii), (e)—(iv), (d)—(i)

Options:
453250451351

E4E35045136. 2



E4E35045137. 3
645350451358, 4

Question Number : 61 Question Id : 64635011469 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
AR T T ATRE %T[ﬁ?!\\ﬁssertinn (A) 19T A 3 Reason (R)
1T g T 3T, TTSdt GEETR ToE 1 |
gIAF(A): A L A AR FAt AFR SHISH 76 &
I (R) - doda 1 9RET IR FAE g &4 SR S
T, &
(1) (A) 3R (R) FFR g2

(

(2) (A) &1 I (R) 5T€ gan
(
(

(3) (A) ¥ (R) MR &1 Y&

(4) (A) oS Fara 3 (R) F@E
Options:

64535045139, 1
64535045140, 2
E4E35045141. 3
B4E3504514%, 4

Question Number : 61 Question Id : 64635011469 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
AR T T ATRE %T[ﬁ?!\\ﬁssertinn (A) 19T A 3 Reason (R)
e g T SATH1, qMSdt GEITE d9E H |
AT (A): HeE L A AR FHA AFR SHISH A6 3
A (R) - dodia 1 IRET IR FAE g &4 SR S
AT o
(1) (A) 3 (R) FFR g

(

(2) (A) & I (R) 5T€ Fan
(
(

(3) (A) ¥ (R) MR 91 Y&

(4) (A) == g e (R) gar
Options:
645350451391
645325045140, 2
64535045141, 3
64535045142 4

Question Number : 62 Question Id : 64635011470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T T T IR i S w5 2
(1) smE

(2) T

(3) a=
(4) ==h

Options:

4835045143 1
E4E35045144 2
64535045145, 5
64535045146, 4

Question Number : 62 Question Id : 64635011470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T Y W IR 3(d AR FFT ?
(1) ==

(2) T

(3) =
(4) ==t

Options:
E452504514=. 1

E4E35045144. 2
E4535045145. 3
64535045146, 4

Question Number : 63 Question Id : 64635011471 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
AT 1 UH 37eh Y179d Assertion (A) %197 31 315 Reason (R)
HYT {7 1 TR TS GEET, TS | |
gifgg (A):  Sd I "Eal dren 1 siHee feE e wa #
TIT T FASNS FE-AE oz zife= =@
BT |
FF(R):  HEE A AAEE W AHISE IR @A
HTRaT1, FT 91e 31 715 |
(1) (A) 3 (R) IR 91 Hara1

(2) (A) @ R (R) 5 2=
(3) (A) TS A AW (R) FEa
(4) (A) 3 (R) 991 g2



Options:

64535045147, 1
64835045148 2
E4E35045149 =2
64535045150, 4

Question Number : 63 Question Id : 64635011471 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TN 1 Ug 3T ?ﬂﬁﬂﬂﬁsertion (A) 11 AW #7151 Reason (R)
19T g7 1 TR STt e, "o | |

gIfgF (A):  SHid T HEaEl a1 sAHgE e @R 9E #l
T F147 g wr-AE faEs ofes =@
T |
FF(R): HE® N AMGE Wk AHISE IfEEL WA
TR, W AT &l WE |
(1) (A) 3R (R) FFR 1€ G

(2) (A) ger & (R) 1€ g2
(3) (A)¥F g2 3 (R) gaaT
(4) (A) I (R) SR gar

Options:

C4E25045147 1

Ldc25045148. 2

E4E35045148. 3
E4535045150. 4

Question Number : 64 Question Id : 64635011472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“fomr fiffrer @ = o= S S W @ A S AT -
(1) =Rt gEfeRat L T8
(2) ST S

(3) s fofegs
(4) T=IH T L EE

Options:

64535045151, 1
64535045152 2
64835045152 2
4535045154 4

Question Number : 64 Question Id : 64635011472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“forr fiftrer @ =rex o= S e T @ A ST -
(1) =1 gEfea T S
(2) = AR

(3) e forfegrs
(4) A= TF L EE

Options:

64535045151,
64535045152,
64535045153,
64835045154,

[ N

Question Number : 65 Question Id : 64635011473 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
et 11 Y W6 SN1STE IR = 1 SA1STS 01 6l T SARRHT, Gl
THerTd ®1d7 %2 1 919 1 |

Ceil| CCil|

(a) (i) THETH TR

(b) @ (ii) STEE TRTI

(e) (iil) HEE AT
(d) = (iv) STHE STET9oT
he :

(1) (a)~(iv), (b)~ii), (c)iii), (d)—~{)
(2)  (a)—(i), (b)iv), (c)—i), (d)—iii)
() (a)iii), (b)), (e)ii), (d)~iv)
() (a)-(i), (b)—(iii), (e)~iv), (d)(ii)

Options:

48350451551
4535045156 2
64535045157, 5
64535045158, 4

Question Number : 65 Question Id : 64635011473 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



et 11 Y W6 SA1STE IR = 11 SA1STS 01 ol T SARRAT, Gl
Hema 147 F2 L 9o 1 |

el = 11

(a) = (i) HEE TR

(b) ® (i) STETE TR

(e) m (1i1) FEE STEHTOT
(d) = (iv) ST=E STeqwmT
he

(1) (a)y—(iv), (b)~ii), (e)iii), (d)~{)
(2)  (a)~ii), (b)=(iv), (e)~i), (d)—iii)
B) (a)ii), b)-(), (e)ii), (d)~iv)
(4 (a)-(), (b)—(iii), ()~iv), (d)~(ii)

Options:

64535045155 1
64535045156, 2
64535045157, =
64535045158, 4

e

Question Number : 66 Question Id : 64635011474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ieshE Trge 9ot T eTersfemn F
(1) =EEE g5
2) W T
(3) fam gt
(4) famrht gtoe

Options:

64535045159, 1
64535045160, 2
64535045161, =
64535045162 4

Question Number : 66 Question Id : 64635011474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ieHE Tree 9ot T sTRrsfen F M
(1) =R g3
(2) e o
(3) fawm gima
(4) T siae

Options:

64535045159, 1
E4E35045160. 2
64535045161, 5
64535045162, 4

Question Number : 67 Question Id : 64635011475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e 98TE fhepems s 1eft @ ‘afze e SEm ST
AT HTATEH |

(1) s 3fher, T TifER, @ 2R, faEe WS
(2) g 3, o Er y, fam 91, T R
(3) wepre 3fUw, fagre o1, T TiER, AR WA
(4) s 3T, e B L, T iR, fE ww

Options:

64535045163, 1
64535045164, 2
64835045165 2
64535045166, 4

Question Number : 67 Question Id : 64635011475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TN TETE ferepeTs 2iHs? geft 1 Tifga A’ 3= wE
ST HEH |

(1) s 3fter, T TifER, @meTn ER Y, faEe S
(2) R 3@, @ BR Y, g =1, T TiER
Q) yep 3w, fage 981, T TiER, AR FR
(4) s 3e, TR BR 1, T iER, T ww

Options:

64535045163, 1
64535045164, 2
64535045165 =2
4535045166 4



Question Number : 68 Question Id : 64635011476 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AR T T R AT Assertion (A) 19T 3T 3T Reason (R)
F1AT TH ATHET, FSdl Ga1amh ar9E q ?
AT (A):  WATR 3 TSHIAeh, W, HEH{dh, Hiafcas,
ST higl a1g 1 =Tereh 31 |
S (R): 2 Hiad M9¥ ©E A@] @ER & a@T S |
(1) (A) 3R (R) 99R 1S gE
(2) (A) ¥R (R) 9FR Fa
(3) (A) &M &R (R) S FERN
(4) (A) ¥ g2 & (R) g

Options:

64535045167, 1
64535045168, 2
64835045169 2
4535045170, 4

Question Number : 68 Question Id : 64635011476 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Eiﬁ'l'[‘\{t-‘:ﬁ HATRH -ﬂ[ﬁ?‘[\ﬁssertinn (A) 14T 3T ?Fh@ Reazon (R)
HIAT TH ATEFT, TS Gelaeh q=E o 9
g (A):  TATR g Uas, AT, HieEias, miafre,
ST hial o1g Tl =Tereh 31 |
FIF(R): 2 diad e @ A9l @ER S deT S |
(1) (A) &R (R) 99N &7 garm
(2) (A) 3R (R) 99 Far
(3) (A) G &R (R) 5 A
(4) (A) ¥ g2 & (R) g2

Options:

64535045167, 1
64535045168, 2
64835045169 =2
4535045170, 4

Question Number : 69 Question Id : 64635011477 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T B W SIS &1 a8 S qwEmer A6 ?

(1) 1993
(2) 1994
(3) 1995
(4) 1996
Options:

645350451711
64535045172, 2
E4E35045173. 3
E4E35045174. 4

Question Number : 69 Question Id : 64635011477 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T U @R S${HISe &) a9 B IEe SR 2

(1) 1993
(2) 1994
(3) 1995
(4 1996
Options:

64535045171, 1
E4E35045172. 2
E4E35045173. 3
64535045174, 4

Question Number : 70 Question Id : 64635011478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

et T AT S 7S gar ?
(1) frpr e, “ fownifean” — =i, G
(2) e " - ffemen
(3) SHER fFeg — B9 a9
(4) TEMY TF — ARSI AR A&

Options:

64635045175, 1
64535045176, 2
64535045177, 2
64835045178 4

Question Number : 70 Question Id : 64635011478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A1a1 1 AT S 918 e ?
(1) farepn e “fowmiftan” — =, G
(2) e " - fafermen
(3) SMER foFeg — ¥ ar - 9
(4) TgN9 T3 — ARSI AER =&l

Options:

48350451751
4535045176 2
64535045177, 5
64535045178, 4

Question Number : 71 Question Id : 64635011479 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Tr @@ §1S 31 ARl ek I ?
1) sream
(2) =Rm
(3) =mger 3
(4) wfsH

Options:

64535045179, 1
645350451350, 2
64535045181, =
64535045182, 4

Question Number : 71 Question Id : 64635011479 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘T T’ §1S 31 ARl ek I ?
(1) Sream
(2) =Rm
(3) =myen i
(4) wiEEy

Options:

4535045179 1
64535045180, 2
64535045181, =
64535045182, 4

Question Number : 72 Question Id : 64635011480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



T firgn o7 w2
(1) wr=m =wH
(2)  w@wRm WM

(3) = HHW
(4) AT AT

Options:

64635045183, 1
64535045184, 2
64535045185 =
645350451586, 4

Question Number : 72 Question Id : 64635011480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T fign o= @ 2
(1) wr=im =
(2)  oeem @™
(3) T =W
(4) SR AW

Options:

64535045183, 1
64535045134, 2
64835045185 2
64535045156, 4

Question Number : 73 Question Id : 64635011481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
wEE die g g S TR EhE s gal o 9rerE b |
(1) =m=EmEre I =
(2) BFER AW HON =A@
(3) amens Hrft =Te
(4) TIER AR FH A

Options:

64535045187, 1
64535045188, 2
64535045189 =
64535045190 4



Question Number : 73 Question Id : 64635011481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
wEE die g g S TR EhE s gal o 9rerE b |
(1) =m=EmEre I =
(2) BFER AW HON =A@
(3) amens Hrft =Te
(4) TIER AR FH A

Options:

64635045187, 1
64535045188, 2
64535045189 =
64835045190 4

Question Number : 74 Question Id : 64635011482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

AR L T ATHH q1o7 728 T 9 fig #0 (1971) T 3191 |igR

TR, ST e L 93T1a 1 |

(a) TEANE —  oitg MY 9Tk

(b) yEmaimen - ditg MU I

(e) Sul ESIE 1 s st Hli

(d) FERBER - HRE THE feh

hc :
(1) (a) A (b)
(2) (a) R ()
(3) (b) 3 (c)
(4 (c) SR (d)

Options:

64535045191, 1
64835045192 2
E4E35045192. =2
64535045194, 4

Question Number : 74 Question Id : 64635011482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ATAR 1 T SATRE N1 g L Sran g 3o (1971) 1 911 HER
T, ST % L 92| 1 |

(a) TTEARE —- itz I IS

(b) yBmaimen - dfg My T

(©) n fofem - IR I

(d) FEREFER - HRE TR fEeg

& -
(1) (a) &R (b)
(2) (a) A (¢)
(3) (b) X (e)
(4) (e) 3 (d)

Options:

645350451491, 1
64535045192, 2
64535045192, 5
64535045194, 4

Question Number : 75 Question Id : 64635011483 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AR 1 T SAREH T 61 AR a0 IS ATHH oshld 7o 7 |
(1) e, SEE 7ed, Ba GER, wrafed
(2) EE, AU EER, wEeE, §EE i
(3)  gaTw, TEE A, @EEH, TN TER
(1) zETs, TEEAE, EEW 784, AN HAR

Options:

64535045195, 1
64535045196, 2
64535045197, =
64835045198 4

Question Number : 75 Question Id : 64635011483 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AR L TH ATHT Y1 I AR q10H IS AR ABTd JATd H |
(1) <, TE@ 78d, ¥ gHR, @@
(2) <, 99N FER, dEsd, SEE 1ed
(3) gaTw, TE AEA, Eted, T HER
(4)  gaus, @ElEa, BE 0Ed, 9 TER

Options:

64535045195, 1
64535045196, 2
64535045197, 5
64535045198, 4

Question Number : 76 Question Id : 64635011484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt 1T Mg S SR g I T SETEiesen e HATeR-e, gh
fieia #1d7 Fe 1 TwE | |
=it 1 =t 11

(a) Jfig 73 (i) . fomaw gtem
(b) Mt =fa (ii) =ferem Bmm
(c) wi wepal  (iil) wmferomE wiE
(d) SR S (iv) gf ==
he:

(1) (a)—(0), (b)(iii), ()~ii), (d)~iv)

(2} (a)-(ii), (b)=(iv), (e)iii), (d)—()

(3)  (a)-ii), (b)), ()~iv), (d)~ii)

(D (a)(iv), (b)ii), (i), (d)iii)

Options:

64535045199,
64535045200,
4835045201,
4535045202,

o’

o P

Question Number : 76 Question Id : 64635011484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



et 1T wa Sqa SR g I SEeieeen S AATeh-T, HEt
fiema F17 e 1 TwE | |

o= 1 =t 11

(a) i 218 (i) . fareg ge
(b) wmHTe =fd (ii) =ferem Bsm
(¢) wiF W (ill) wfemE |
(d) ST S (iv) fem =i
<h< :

(1) (a)-(0), (b)=(iii), (e)=(ii), (d)=~(iv)

(2)  (a)—(ii), (b)—~(iv), (e)~iil), (d)—(i)

() (a)-ii), (b)), (i), (d)ii)

4 (a)—iv), (b)ii), (i), (d)~iii)

Options:

64535045199, 1
64535045200, 2
64535045201, =
64835045202 4

Question Number : 77 Question Id : 64635011485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“Ethnology is interested primarily in the past history of

people without written records and is therefore clogely allied
with archaeology.”

“Srfafer @ T AESE B8 BiAE S A TH G E5%
AT AR TE1 AHId [ Te™h TER JI9R s 5 o1 |7
— T SRSl TR ST HET ?

(1) ot 7

(2) S fEs

(3) Z.sf.TEen

(4) i arg

Options:

64535045203, 1
64535045204, 2
64835045205 2
64535045206, 4

Question Number : 77 Question Id : 64635011485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
“Ethnology is interested primarily in the past history of

people without written records and is therefore clogely allied
with archaeology.”

“Srfafess @, U ATHHEd 318 HidTh SSid A @i g%
FHHT AR TG AF [ JATE A J9R S| 14k o1 |7
— a1 A El ST ST T 7

(1) o 7R

(2) = s

(3) 3.

(4) i =g

Options:

4535045203,
4535045204,
64535045205,
64535045206,

o LI M

Question Number : 78 Question Id : 64635011486 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
= 11 et o e Sau o gt 11T st 30 W
AT, HEI Hera &1d7 F2 1 99 1 |

it 1 Tt 11
(a) seeATRe (i) erfiEafrar
(b) T (i) Hfparg
(c) HgTE® (iii) erfifaarg
(d) sfiramm (iv) Icufeare
hc:
(1) (a)—(iii), (b)~iv), (e)=(i), (d)ii)
@) (a)-(iv), (b)iii), (e)-(ii), (d)—(i)
) (a)-ii), (b)), (O)=i), (D—iv)
4 (a)-(i), (b)~(i), ()-(iv), (d)iii)

Options:

64535045207, 1
64535045208, 2
64535045209 2
4535045210, 4

a

a



Question Number : 78 Question Id : 64635011486 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
= 11 T w1t o e Sy R gt 11T Fst a9
AT, GEI Hrerma &1dT F2 L 9sE o |

=it 1 Tt 1

(a) sTeaArere (i) eAfirafFrarE

(b) ek (i) 7frarg

(c) WIS (iil) e1gfifearg

(d) sifimam (iv) Ieafaare

e
(1) (a)-(iii), (b)~(iv), (c)=(1), (d)~ii)
(2 (a)—(iv), (b)iii), (e)—(ii), (d)—(i)
(3 (a)(ii), (b)), (e)=(1), (d)~iv)
(4 (a)-(ii), (b)=(i), (—(iv), (d)-ii)

Options:

4535045207, 1
64535045208, 2
64535045209 =
64535045210 4

Question Number : 79 Question Id : 64635011487 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
I A=A 31 SATH J 1 gF o 2
(1) 1877 -89 1
(2) 1879 - 80 =at 1
(3) 1880 -814a 1
(4) 1881 -82¥a i

Options:

64535045211, 1
E4E35045212. 2
64535045212
64535045214 4

Question Number : 79 Question Id : 64635011487 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



I AT 31 371 BT L g o 2
(1) 1877 -1784a 1
(2) 1879 - 80T 1
(3) 1880 -81Ta 1
(4) 1881 -82Ha 1

Options:

64635045211, 1
64535045212, 2
64535045213 =2
64835045214 4

Question Number : 80 Question Id : 64635011488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tig eMfEarHt 31 SR T =t M Squ q6 S e 2
1) Ta ™
2)  anfeer o
(3) wrE
4) =rs wE

Options:

64535045215, 1
64535045216, 2
64835045217, 2
64535045215, 4

Question Number : 80 Question Id : 64635011488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Titg eTfEamHt 31 R T =t M S qe " e 2
(1) T ™
2) anfrer O
(3) wrRE
4) =3 wE

Options:

4835045215, 1
4535045216, 2
64535045217, 5
64535045218, 4

Question Number : 81 Question Id : 64635011489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt T 9t opqm o gt 11 offfer) 3 S[qw Herms-tl, g
e 1d Fe T T9E 1 |
T 1 = 11
(a) # wizgw mEm () weed TS
(b) w7 Tz (i) erema g3
(c) BTHI-SW ST (iii) Fem= 79
(d) for fommm (iv) =g 7
he:
(1) (a)~(iv), (b)ii), (e)iii), (d)—()
(2)  (a)(0), (b)=(iii), (e)(ii), (d)~iv)
(3 (a)ii), (b)—(iv), (e)—(i), (d)~ii)
4 (a)(i), (b)), (e)—(iv), (d)iii)

Options:

64535045219, 1
64535045220 2
64535045221, 2
E4E35045222. 4

Question Number : 81 Question Id : 64635011489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1T g ofq7 o gl I Sifer) e 3[qn femms-ofl, ga
fieia Id FHe L TBE A |
T = 11
(a) s wign e () Heed TS
(b) = fag (i) eremar g3
(c) gmm-em s (iii) Hem g
(d) for forcem (iv) Frge
e :
(1) (a)~iv), (b)~ii), (e)iii), (d)—({)
(2)  (a)—(i), (b)(iil), ()(ii), (d)~iv)
(3)  (a)—(iii), (b)=(iv), (e)—(i), (d)—(ii)
) (a)-(i), (b)), ()—(iv), (d)(iii)

Options:
452504521591
64535045220 2



EAE35045221. 3
BAE35045222. 4

Question Number : 82 Question Id : 64635011490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“ETSH g 3] S S gt e 2

(1) =T 11,

(2) s T

(3) ¥ gl

(4) HEE A 7
Options:

E4E35045223. 1
EAE35045224. 2
E4E35045225. 3
BAE35045226. 4

Question Number : 82 Question Id : 64635011490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘TTAM TEUh | gl SR STeTs et w2

(1) =T 11,

(2) s 9

(3) % giEe

(4) EE T 73
Options:

E4E35045223. 1
EdE35045224. 2
64535045225, 3
64535045226, 4

Question Number : 83 Question Id : 64635011491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘“FE = ™M IR T F T SEEl ENE T, ST g
21 T fom e LE MR S US|, STk g e win
M SE TR A | e g efE i gEere o |7
—TraT e 31 SR B TR ?

(1) E E9E

(2) =T gEM

(3) BYH T

(4) B I

Options:

64535045227, 1
64535045228, 2
64535045229 2
E4E35045220. 4

Question Number : 83 Question Id : 64635011491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“FrE o1 T 1R (S e T SEET ENE T, ST |
21 o1t fom @ 1@ TR 9 US1 o, ST @ A |1l
M G TR a1 | e g SiE T Aere o |7
— iET 11 2 SR 0T AT 2

(1) HFE FHE

(2) =% =M

(3) FWH T

(4) 29 OmE

Options:

4635045227, 1
64535045228, 2
64535045229 =
64535045230 4

Question Number : 84 Question Id : 64635011492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T 11 ARSI SqE SR gt 11 T IqE BATR-eT, gE
fierra =17 $e 1 9/9E 1 |

Tt 1 it 11

(a) . W 9 o () femensn
(b) ST 7Y (if) frger st
(c) feamm @im (iii) giem fem
(d) THEET HE (iv) TR
he:

(M) (a)=(i), (b)=(i), (e)=(iii), (d)~(iv)

(2) (a)-(i), (b)-(iv), (e)ii), (d)iii)

3 (a)iv), (b)~ii), ()=, (d)ii)

4 (a)-Gii), (b)=(ii), (c)=(iv), (d)—{)

Options:

64835045231, 1
4535045232 2
64535045222, 5
64535045234 4

Question Number : 84 Question Id : 64635011492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tt 11 AETIISIee SqqA SR gt 11 1 T IqE BAeR-eT, gE
fieTra =17 $e 1 9/9E H |

Tt I et 11

(a) =7, wfrg M9 BwEr (1) femerst
(b) =TeerTe gq, (i) figs s=t
(c) feamm @i (iii) giem fea
(d) THET (iv) R
E TR

(1) (a)~(i), (b)), (e)iii), (d)~iv)

(2) (a)-), (b)~(iv), (e)ii), (d)iii)

() (a)~(iv), (b)ii), ()—), (d)~i)

B (a)ii), (b)), (e)—(v), (d)—{)

Options:
64535045231, 1
64535045232 2



EAE35045233. 3
64535045234, 4

Question Number : 85 Question Id : 64635011493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TH H g 1 3T & 4-=lgiesa fam s ?

(1) 3IE
(2) =
(3) =TT
(4) erfiam
Options:

E4E35045235. 1
EAE35045236. 2
64535045237, 3
64535045238, 4

Question Number : 85 Question Id : 64635011493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TH 3TH g 1 31 & 9-=lgiesan fam s 2

(1) 3I=E
(2) T
(3) spE=me
(4) s
Options:

E4535045235. 1
64535045236, 2
64535045237, 3
64535045238, 4

Question Number : 86 Question Id : 64635011494 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TER AME AW T FEESIGE g HEE FEE 2
(1) vaam ==
(2) =TT ARE!
(3) fefom @i
(4)  ZmE AR P

Options:

4535045259 1
64535045240, 2
64535045241 =



EAE35045242. 4

Question Number : 86 Question Id : 64635011494 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TER E MAF T AENSiay g AT HEE ?
(1) s=am ==
(2) U= ARE!
(3) fefam @
(4)  Zm R g

Options:

64535045239, 1
64535045240, 2
64835045241 =2
E4E35045242 4

Question Number : 87 Question Id : 64635011495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

rErer dge gt T eTHEfE g i e ?
(1) =g 0y
(2) @A qrE
(3) WE@IE Y
(4) T HE

Options:

64535045243, 1
64535045244 2
64535045245 =
64535045246, 4

Question Number : 87 Question Id : 64635011495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e’ sfeE vft 1 e <@ o @ ?
(1) & 98E 7
(2) e 7rE
(3) &A@ I% Y
(4) T EE

Options:
4535045243 1

E4E35045244. 2
E4535045245. 3
64535045246, 4



Question Number : 88 Question Id : 64635011496 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“gm Tage eneiE” S en Wi W 1= e 2

(1) gzm I =

(2) JEST 99"

(3) 9T 3Tk BEF

(4) 3Tl IS 2 20k FIH THIH
Options:

64535045247, 1
64535045248, 2
E4E35045249. 3
E4E35045250. 4

Question Number : 88 Question Id : 64635011496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“gm Tage onigie” S sen Wi A 1S T 2

(1) Hfzm I aEe

(2) 3G A9

(3) 9T <k BEUH

(4) 3Tl ATS S 2k FIH TARH
Options:

64535045247, 1
E4E350452458. 2
E4E35045249. 3
64535045250, 4

Question Number : 89 Question Id : 64635011497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“HTE AT BS54 T S O
fert 21 fommen wm weeam |7
_ 3 & ¥ 2

(1) =7 Fren

(2) 9= FE

(3) Fo
@ iz weh

Options:
64535045251, 1



EAE35045252. 2
64535045253, 3
64535045254, 4

Question Number : 89 Question Id : 64635011497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“HTE TET_ E15 fT TH IS O
fert 21 fommen wm weem |7
_ e & 5] 2

(1) T =1em
(2) 91 A

(3) Fam
(4 firzg T

Options:

64535045251, 1
64535045252 2
64835045252 2
E4E35045254 4

Question Number : 90 Question Id : 64635011498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“A sib or clan is often the combination of few lineage and
descent may be ultimately traced to a mythical ancestor, who
may be human, human like, animal, plant, or even
inanimate.”
m “fi wifw sTsdieed fFg =TT Fram Tl w1 TR S
AhIETR TS T I5eR F9S™ ©H 1 99191, JAEig e,
AT T AR, a- TS |/ a5 asarse |7
~E AR 31 SR AT, FE ?

(1) Sf. v =T gs

(2) WMHER HAR HEA
(3) fifsmes
(4) fosa

Options:

64535045255, 1
64535045256, 2
64835045257 2
4535045258 4




Question Number : 90 Question Id : 64635011498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“A sib or clan is often the combination of few lineage and
descent may be ultimately traced to a mythical ancestor, who
may be human, human like, animal, plant, or even

inanimate.”
T “firq Tifw srgdied fFg S AT Holq ST SR ST
AR, ST i, S B9 G i Samel, FeiE 6w,
Al AHH AFER, FR- TS 7 s Tt g7 asarse |7
— T ETAN g1 SR ST S ?

(1) =i vam =g

(2) THER AR T
(3) ffsme

(4 fr=a

Options:

64535045255, 1
64535045256, 2
64535045257, 3
64535045258, 4

Question Number : 91 Question Id : 64635011499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘e TiTHE MU T SER BETSHO 3 AR T e ?

(1) FAE
(2) wreeret gy (enfeart)
(3) e T

(4) st wiE (frd)

Options:

64835045259, 1
4535045260, 2
64535045261, 5
4535045262, 4

Question Number : 91 Question Id : 64635011499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



‘T TiTEE TUM T AER BETSHOE 3 AR T e ?

(1) FE
(2) sreeret gy (enfeart)
(3) HaeTm Tt

(4) st wiE (fard)

Options:
64535045259 1

E4E35045260. 2
EAE35045261. 3
EAE35045262. 4
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= arsen i @1 sien e it wifag @ a2

(1) emfEm
2 smER
(3) FTIUS
(4) <=
Options:

64535045451, 1
64535045452, 2
E4E35045453. 3
E4E35045454. 4

Question Number : 139 Question Id : 64635011547 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

s wreen fiemes g1 et famm e smfeg @ a2
(1) smfeE
2) s
(3) IS
(4) <

Options:

64535045451 1
64535045452, 2
64535045452 o
64535045454 4

Question Number : 140 Question Id : 64635011548 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT T R e w1 e gife i e 0
(1) g
(2) 3
{3) 4
(4) 3

Options:

4635045455, 1
64535045456, 2
64535045457 =
64535045455, 4

Question Number : 140 Question 1d : 64635011548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



L R 1 i e B A oM I s 1 | e o i 1

(1)
(2) 3
(3) 4
4) 3
Options:

64535045455, 1
64535045456, 2
E4E35045457. 3
E4535045458. 4

Sub-Section Number: 2
Sub-Section I1d: 646350543
Question Shuffling Allowed : Yes

Question Id : 64635011549 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cesticn Label | Comprehension

HIST SATERTT T T W FATTTE ShTd UTSETE W SR FHehedt orEn 91
i 95 FTiere Fe @FE A |

et T Fam e e B 5% '@ At e | e A
7Rl fen e Iap Wifsm wive e Sid FIEE Jed g
JUY BT S FIA | AT o7 T Toern arft 3o Fraq oy
e @ sies #1a7 me TR 1 gatigs w0 |

dren T ABT-EIE1 U el - el IGH | S[qHI S | TEEIY Hia
forg mifem zifere TR S0 @ FEEE w1 | SHEE T4 TR
QS TEmsd, AW HET A F] EIH 1 | a@i ZRm
it AruEt o e gl g agued Sam 9 S &

T T TR 2 & A W oot Fetren i aeen | e T
T AR S AR CAEE FET | @GO S e 9% @ 1
T ASIS FAT 1R HeATs S FE |

UIfsH @H 89 ®id9 9id T8 9 FE | T AR G qres
AN Tl S SEE T AR AT AW | A g daut

TR i g TE T I A S =i SR T AR T s
H |

Sub questions



Question Number : 141 Question Id : 64635011550 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TEedt TS g ST HI I o WISEE S 2
(1) wrdierd, Or, gt
(2) wrdterd, gl TR

(3) 1, T, o
(4) wTEr, 9, 1
Options:

645350454559, 1
64535045460, 2
64535045461, 3
EAE350454E62. 4

Question Number : 142 Question Id : 64635011551 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TEuEft e U TR S e S e 2
1) o
(2) g TR
(3) =R Taw T
4 g5

Options:

64535045463, 1
E4E35045464 2
64535045465, 5
64535045466, 4

Question Number : 143 Question Id : 64635011552 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TRRIE T S E X S F SR F 2
(W) s
) fug W
(3) e T
(4) e

Options:

64535045467, 1
64535045468, 2
64535045469 =
64835045470, 4



Question Number : 144 Question Id : 64635011553 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TET TS AR A L e S BT ST ST ?
(1) g

(2) e
(3) siem =i ST 3

(4) g 1 IER Tfsw 1

Options:

64535045471, 1
64535045472 2
4535045473 2
64535045474, 4

Question Number : 145 Question Id : 64635011554 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a3 @ e sfgeh 2
D) zgen & @F

(2) frge & @
(3) FOUEE WH
(4) 90U EH

Options:

64535045475, 1
4835045476 2
4535045477 2
64535045475, 4

Question Id : 64635011549 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehiension



HIET STTERTT TRTIT Rl Wi FATTTE hTd UTSETE W SR Hehedt o 91
W 95 FIfee ¥R, @G Y |

et T Fawm e e B 7% g a5 | e g
7! firen T, AR mfew wivs el wae FIEE fed afe
T BT I[P B | AT 37 i e arft o1 a7 sSogm
e @ Siem F107 ME B 1 gAtgs H |

St T8 IE1-41 T WAl - & AN d SIgATE & | TARY S
ferg wifem wfersy Aidterl S[qH A SIS F1 | SE A
- T WTATR A HET S g A A w1 | i gam
7l At SR PR gl g1 Aguedt Sae 4 S S |

A TR TR T ] A A e feen A | e
L HAHT SN S AW FHET | AEE el S g9 9% T QW
T SEIE Hi AR WA A9 HE |

TSR T & FT €4 & SH FE | HT A G s 3
AR A E SeEAR 1 AR Wi A | e T e @

e wae firg T2 T e g wm S Ot smm
cai il

Sub questions

Question Number : 141 Question Id : 64635011550 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tt T 2 ST HI IEH d WIEEE S 2
(1) wrdfrgrdt, AR, AR
(2) wrdiETd, s, A

(3) i, TR, g
(4) wTEt, 919, 1
Options:

64535045459, 1
E4E35045460. 2
E4E35045461. 3
BAE3504546%2. 4

Question Number : 142 Question Id : 64635011551 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TEuEt e 1 e S Mg S S 2
(1)
(2) g TR
(3) R e T
@ T T

Options:

64535045463, 1
E4E35045464 2
64535045465, 5
64535045466, 4

Question Number : 143 Question Id : 64635011552 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR TS ST S 1 AT FIA STEE FE 2

(W) s
) fug

(3) e
4) Tafm

Options:

64535045467, 1
64535045468, 2
64535045469 =
64835045470, 4

Question Number : 144 Question Id : 64635011553 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

THT A8 AT A L e S \Tes: S T ?

(1) g

(2) a1

(3) sfreqm Him ST 3
(4) g T 3R qifem

Options:

64535045471 1
64535045472, 2
64535045472 o
64535045474 4

Question Number : 145 Question Id : 64635011554 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

e T SR wr et sfdehg w2
() 29 35 @A

(2) Pz e @
(3) FAUERE @H
(4) U EHE

Options:
64535045475 1

E4E3504547E. 2
EAE35045477. 3
64535045478, 4

Sub-Section Number: 3
Sub-Section 1d: 646350544
Question Shuffling Allowed : Yes

Question Number : 146 Question Id : 64635011555 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“The Seed Bore Fruits” geft & TMiferan 21 =RiT ?
(1) =8 57 Imfeee Trfe=
(2) fo . s
(3) =i fafermm
(4) <. sfem Fs

Options:

4835045479, 1
4535045480, 2
64535045481, o
64535045482, 4

Question Number : 146 Question Id : 64635011555 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“The Seed Bore Fruits” §eft & TMiferay g S=RT ?
(1) ¥g. 5 amfere Tt
(2) fo . svswE
(3) =i faferm i
(4) . sfem drs

Options:
64535045479, 1
64835045480 2



E4E35045481. 3
E4535045482. 4

Question Number : 147 Question Id : 64635011556 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘T B ¢ WA W g1 SRR ST &
(1) ™ SEETS S
(2) foremamme smm

(3) A=EHTR AT
(4) IR T4

Options:

64535045453, 1
64535045454 2
64835045485 =2
64535045456, 4

Question Number : 147 Question Id : 64635011556 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘ST B ¢ WA W g1 SRR ST S
(1) A1 S EE

(2) feramare smEE

(3) HAEEM AEE
(4) 3R A=

Options:

46350454583, 1
64535045484 2
64535045485 =
64535045456, 4

Question Number : 148 Question 1d : 64635011557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T T efeamet i & Ts TR Fies SIS on 2

(1) 4
(2) 6
(3) 8
4) 10
Options:

E4E35045487. 1
64535045488, 2
64535045485, 3



E4E35045430. 4

Question Number : 148 Question Id : 64635011557 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A T eTfEamt @i fomes deam gt grgamt on 2

(1) 4
(2) 6
(3) 8
4 10
Options:

64535045457, 1
E4E35045488. 2
E4535045489. 3
64535045430, 4

Question Number : 149 Question Id : 64635011558 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

f&=2t frfor wifm amo fifre gl el 21 oie 2
(1) W5 she=rs
(2) g 7% T

(3) qorEt g™
(4) FER 2\
Options:

645350454911
64535045492 2
64535045493 2
64535045434, 4

Question Number : 149 Question Id : 64635011558 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

f&=at frfor wifim aro fifie gedl e & siem 2
(1) e B
(2) giten 727 va
(3) qorHt ™
(4) THeR ZH

Options:

4635045491, 1
64535045492 2
64535045493 =
64535045494 4



Question Number : 150 Question Id : 64635011559 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘LT oEE 1w F S| w2

(1) S S
(2) =@ T8

(3) T
(4) I

Options:
64535045455 1

E4E350454386. 2
E4E35045437. 3
E45350454398. 4

Question Number : 150 Question Id : 64635011559 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘AT FEE 1T @ S w2
(1) S HE
(2) A T
(3) T
(4) I

Options:

64535045495, 1
64535045496, 2
64535045497 =
64535045495, 4



